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Question Number : 1 Question Id : 7155053682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let A={xe R:[x+3]+[x+4] <3}

- | II/ - 3 .-\"II_E . t
={xeR:3 Z J < 377" % where [t] denotes greatest integer

\ =1 ﬁ

function. Then.
Options:
71550511721. A=8

71550511722. AcB, A8

71550511723. B, A# 8

71550511724, ANB=¢
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Question Number : 1 Question Id : 7155053682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HHAlA={x€ER:|x+ 3]+ |x+4] <3}

i

A

o 3 o

B={xeR:3" Z | Ve
\ =1 IOF

L. -

&, ogl [t] Heud Yuife wad g |
Options:

71550511721, A=£8

71550511722, A<B, A#B

71550511723. B C, A8

71550511724, ANB=¢

Question Number : 2 Question Id : 7155053683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The sum of all the roots ot the equation y =By +15=2x +7 =01s:

Options:

71550511725, 9—+/3

71550511726. 9++/3

71550511727 1 1++/3
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71550511728. 1 1-+/3

Question Number : 2 Question Id : 7155053683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
THIDRUI 2 — 8x + 15| - 2x +7 = 0 P T F&l ST A &:

Options:

71550511725, 9-+3
71550511726. 9++/3

71550511727, 1 1++/3

71550511728. 11-+/3

Question Number : 3 Question Id : 7155053684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let A= [a; ]y, , where 2= 0 for all 1, ) and A’ =1 Let a be the sum of all diagonal elements of Aand b=|A.
Then 3a° + 4b” is equal to

Options:

71550511729. 3
71550511730. 4

71550511731. 7
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71550511732. 14

Question Number : 3 Question Id : 7155053684 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT A= [a]yer , 61 94, § B (T o, 2 0 TG A? = 161 AT A T o0l o5 it ofgal T A 2 § 3R
= A/ 81 9 3a2 + 4b° TR E:

Options:

71550511729, 3

71550511730. 4

71550511731, ¥

71550511732. 14

Question Number : 4 Question Id : 7155053685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the system of equations
x+ty+taz=1{

2x + 3y t+2z=6

Xt 2yt az=3

has infinitely many solutions, then 2a + 3b 1s equal to

Options:

71550511733. 20
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71550511734, L3

71550511735, £

71550511736. 28

Question Number : 4 Question Id : 7155053685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

afe gdieR Aer

XTYyTaz=

Ix +3y+2z2=06

X+ dy+az=—23

P Hided el dd 2a+3baEl & -
Options:

71550511733, 20

71550511734, 23

71550511735. 235

71550511736. 28

Question Number : 5 Question Id : 7155053686 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time: 0




If‘;”CE - "C5;=10: 1, then the ratio (n” + 3n) {r-t:' —3n+4)is
Options:

71550511737, 2Tl
71550511738. 33:16
71550511739, 2:1

71550511740. 653:57

Question Number : 5 Question Id : 7155053686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qig 0L I [ B % dd ‘:ﬂ{i‘—“d{ﬂ'z +3n): (n°—3n+4) %

Options:

71550511737. 27:11

71550511738, 35:16

71550511739, 2:1

71550511740, 65:37

Question Number : 6 Question Id : 7155053687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a
gcollegedumaa
India’s largest Student Review Platform

S



[f the ratio of the fifth term trom the beginning to the fifth term from the end in the
/ I

expansion of | 42 4 1 s J6 - 1 . then the third term from the beginning is:

|
\ Y3 )

Options:

71550511741, 6042

71550511742, 60+/3

71550511743, 3042

71550511744, 3043

Question Number : 6 Question Id : 7155053687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

qﬁ: ('h‘q 4 ]
W =
3 )

\J{E:*I_ 5. dd 3RY I diERT U< 6

1

& [dWR H 3RY ¥ Ul=d 9g &7 3id 9 UlFd Ug ¥ 3Urd

Options:

71550511741, 602
71550511742, 6043

71550511743, 3042

71550511744, 303
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The sum of the first 20 terms of the sertes 5+ 11 + 19+ 29+ 41 + ... 15

Options:

71550511745, 3250

71550511746. 3450

71550511747. 3420

71550511748, 3520

Question Number : 7 Question Id : 7155053688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
YU 5+ 11+ 10+20+41 +... & YYH 20 Y& &1 I &:
Options:

71550511745, 5250

71550511746. 5450

71550511747. 5420

L
-
_J

71550511748. 3

Question Number : 8 Question Id : 7155053689 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1

Let ay. ay, aj. ... . a, be n positive consecutive terms of an arithmetic progression.
It d = 0 1s 1ts common difference. then _

] E?ﬁ | —_ 1 .+ + 1 - -Hia

“ﬂ{eiu ﬁﬁﬁ_+ a, IEEFFJEE'. ......... *ﬁﬂﬁl'+\ﬁigj
Options:

71550511749. 1

71550511750. 0

71550511751. %’{E

l
7155051 1752, ‘w./',;F

Question Number : 8 Question Id : 7155053689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HA ay. a, a3, o, GHIAR U & YTED HHFA n TS o | Ofc Gl d = 0 ©.

:
s 1m\jf: S T— — | DT E:

M3 a0 "'-..'Iﬂl + I'ﬂ' 1||.|IIH.-;.. T |IH_

Options:

71550511749. 1

71550511750. O

71550511751, vV d

]

TACCNCA1177C" a..J.FLIr

L]
&collegedumaa
India’s largest Student Review Platform

S



Question Number : 9 Question Id : 7155053690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ay
If 2x* + 3y * = 20, then T at (2. 2) 18 equal to:
0ax

Options:

f A
3+log, 4

9
71550511753, \2+108.8,

1 3
3+log, 16

o

71550511754, \ 4+log.8

Y- a 5 )
3+log,.8

71550511755. \2+l0g.4,

( 3
2+log, 8

71550511756. \ - T10g.4,

Question Number : 9 Question Id : 7155053690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

" iy ﬁ
Afg 2x ¥ + 3y ¥ =208, d9 (2. 2) R % BT O B
RN

Options:

1 )
3+log.4

)
71550511753, \ <1108,
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2
3+log, 16

71550511754, \ 4+10g.8

(3+log, 8"

71550511755, \2+log.4,

(2+log, 8"

71550511756, \-+108.4,

Question Number : 10 Question Id : 7155053691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

_ 3 2 _
Let if{1)+4;€[—lJ - _I +3. x>0. Then 13[_;'[;;] dy 15 equal to:
X X T

Options:
71550511757, 3 10ge 2 — 3

71550511758, 3 loge 2 + 3

71550511759, 10 loge 2 -6

71550511760, 10 log. 2 + 6

Question Number : 10 Question Id : 7155053691 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1

a7l S_f'(.r}+4f'[—J=—:+l x>0%1dd mj_;“{ﬂm HTHM B
i

1Yy 1

X X
Options:
71550511757, 3 loge 2 =3

71550511758, 3 loge 2 + 3

71550511759, 10 log. 2 — 6

71550511760, 10 log. 2+ 6

Question Number : 11 Question Id : 7155053692 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¢

_ P, '
x* (1 sec” x+tan :r)

et j'[_.f}:j Lo LIt _f[[]_']:ﬂ . then 1[47) is equal to

(xtan x + 1}1
Options:
{ﬂ: -5-3.1. -].E - 2
1ﬂ'gu 17 |
71550511761. 32 4(mn+4)

(n+4) m
log +

71550511762. 16 4(m+4)

(m+4) .

log.. , —
71550511763. 16 4(m+4)

+i'|.: _3
|11n,t_4L,”I ] b—

71550511764. 32 Hr+4)

~
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Question Number : 11 Question Id : 7155053692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

e | b
X (I Sec” X4 1an 1)

T 7 (x) = 4 ®1T(E (0)=0 7. 99 [(§) STHAE:
(xtan x4+ 1)
Options:
(r+4) -
0g, —— ,
71550511761, 32 4(n+4)
[+ -H“ T
log .. _
71550511762. 16 4lfn+4l
(w4 m-
Iugg . o _
71550511763. I Hmr+4)
(m+4Y) -
log, =
71550511764. 32 dm+4)

Question Number : 12 Question Id : 7155053693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The straight lines 1; and 1, pass through the origin and trisect the line segment of

the line L: 9x + 5y = 45 between the axes. If m; and m, are the slopes of the lines
|, and l,. then the point of intersection of the line y = (my + m,)x with L lies on

Options:

71550511765, ¥ &&=
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71550511766, 6x—y =13
71550511767. ¥ —X =3

71550511768, 6x Ty =10

Question Number : 12 Question Id : 7155053693 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R @MU 1, 9 1, o fag 9 gl Uﬂ?ﬁ%@ﬁ{{tﬂL Ox + 5y = 45 & A& P dIT
TGS DI di- §Ra YA § dledi g1 afg @31, 91, @i Yauraid m, @
m, %_. SEELEIE y=(m; +m,)x HR L P Wideg- H—g [ TG IR 87

Options:

'J'l

71550511765, ¥ — =

71550511766, 6x—y =13

71550511767. Y —X =2

71550511768, 0x Ty =10

Question Number : 13 Question Id : 7155053694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the equation ot the plane passing through the line of intersection of the

planes 2x —y +z=3. 4x— 3y + 5z + 9 =0 and parallel to the line
L—J‘;]—ITH—:—;EHM by +ecz+6=0, then a + b+ ¢ 1s equal to

&collegeduniaﬁ
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71550511769. 1.

71550511770. 13

71550511771. 14

71550511772. 15

Question Number : 13 Question Id : 7155053694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
qle FHAG 2x — v+ 2= 3, 4x — 3y + 5z + 9 = 0 Bl Wid=dg 3@ Y BIHR 91 aTal

qur v A= 10 - 22 3 GuTeR SHA B GHIGRU ax + by + ez + 6 =0 6.
d9a+b+c I g:

Options:

71550511769. 12

71550511770. 13

71550511771. 14

71550511772. 15

Question Number : 14 Question Id : 7155053695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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One vertex of a rectangular parallelopiped 1s at the origin O and the lengths of its

edoes along x, v and z axes are 3, 4 and 5 units respectively. Let P be the vertex

(3.4.5). Then the shortest distance between the diagonal OP and an edge parallel to

z axis, not passing through O or P is;

Options:
12
71550511773, 2

12

71550511774, 533

71550511775. 12 2./5

12

71550511776. v/ 5

Question Number : 14 Question Id : 7155053695 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

U6 AGAIPR GHIR Yehad oI UD KN Jd fog 0 W E AR x, y Ul - &l &

Y 3T [HIRY (cdges) BT TEISTT HHY: 3, 4 TUT5 SPIS &1 AT TP

i p, faiq (3.4.5) W &1 7d fawuf op qur 2 348 F THGR S9P U FR. ol

TP 9 BIDR ol oldl &, & 8 Yad g1l 6
Options:

12
71550511773, 5

|2

71550511774, 5v5

71550511775. 124/5

O

~
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12

—

71550511776. ¥

Question Number : 15 Question Id : 7155053696 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the position vectors of the points A, B, C and D be
Si+57+24k, i+2]+3k,~2i+4j+4k and —f 4 5; +6k .Lettheset S={lelR;

the points A, B, C and D are coplanar}. Then Z ()L T 2)h 15 equal to
AES

Options:

71550511777. 13

71550511778. 23
71550511779. 41

37
71550511780, 2

Question Number : 15 Question Id : 7155053696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A1 ISg3Hl A, B, CID P [RUIT AIGRT 57 +.5j 4224, i +2j+34,-2i +4j+4k T
i +5/+6k slAEgEE S ={i e R: f§g A.B.CcID Hgdaild g}e. dd

2 (A+2) wmt
AES

Options:
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71550511778. 23

71550511779. 41

37
71550511780, 2

Question Number : 16 Question Id : 7155053697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let a=2i+3j+4k, b=i—-2;-2k and ¢=—j+4;+3k .

It j 1s a vector perpendicular to both p and ¢. and a-d = 18, then |g x &F 15

equal to

Options:
71550511781. 640
71550511782. 680

71550511783. 72U

71550511784, 760

Question Number : 16 Question Id : 7155053697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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AT G=2i+3j+4k b=i-2j-2k T ¢=—i+4j+3k UG TP FET
qfegil j d¢ , SHI P TWAd? 3R 5. j-15%8, T8 |G x d|2 PTHAE:

Options:

71550511781. 640
71550511782. 680
71550511783. 720

71550511784. 760

Question Number : 17 Question Id : 7155053698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The mean and variance of a set of 15 numbers are 12 and 14 respectively. The
mean and variance of another set of 15 numbers are 14 and - respectively. If the

variance of all the 30 numbers in the two sets 1s 13, then 5= 1s equal to
Options :

71550511785. 12

71550511786. 11

71550511787. 10

71550511788. 9

Question Number : 17 Question Id : 7155053698 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Instruction Time : 0




Correct Marks : 4 Wrong Marks : 1

15 ST & AIEH d TR0 AT 12 9 14 €1 15 3R Ga13ff & HIe g TR0l
HUR: 147 42 &1 e gyl 30 SIS ST 13 8. @1 52 WE &

Options:

71550511785. 12
71550511786. 11
71550511787. 10

71550511788. 9

Question Number : 18 Question Id : 7155053699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A pair of dice 15 thrown 5 times. For cach throw: a total of 5 1s considered a success. If the probability of at

.k u
least 4 successes 15 i then & 15 equal to

Options:
71550511789. 73
71550511790. 8.2

71550511791, 123

71550511792. 164

Question Number : 18 Question Id : 7155053699 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
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Correct Marks : 4 Wrong Marks : 1
&l Ol @l 5 IR sl W1dl § dYT 8% a1 Wt Seaar3ff &1 i 5 811 U 9hadl

O ol 1 gfc 0§ & 4 9Bhadis| &1 uiddedl % . d9 ke &

Options:

71550511789. 73
71550511790. 82
71550511791. 123

71550511792. 164

Question Number : 19 Question Id : 7155053700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

From the top A of a vertical wall AB of height 30 m, the angles of depression of
the top P and bottom Q of a vertical tower PQ are 157 and 60° respectively, B and
(Q are on the same horizontal level. It C 15 a pomnt on AB such that CB = PQ, then

the area (in m?) of the quadrilateral BCPQ is equal to

Options:

200(3-+/3)

71530511783,

71550511794. 50{}[}..,@ - 1)

71550511795. 3[}0[-.,«’5— l)

300(+/3 +1
71550511796. Dﬂ(“ +1)
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Question Number : 19 Question Id : 7155053700 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

30 HieX $al @R SldR AB & RER A Y U SWER Clal PQ & ARG P T
YR Q & I B HUT: 15°T60°2 | BIQ U ol Afde aa w g1 3fg
AB R U% f6g C SUWHR g [ CB = PQ T, T8 IHd BCPQ @1 &AW (a7
Hley O) RN o

Options:

71550511793. ~

71550511794.

71550511795,

3
71550511796.

Question Number : 20 Question Id : 7155053701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Statement (P = Q) A (R = Q) 15 logically equivalent to

Options:

71550511797, (P=R)A(Q=R)

71550511798. (PAR) = Q

<4 Fraraa=nn 1P =RV fﬁ — R
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71550511800. (FVR) = Q

Question Number : 20 Question Id : 7155053701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HYT (P = Q) A (R = Q) & ddb HId el HY ©:

Options:

71550511797. (P =R)A(Q=R)

71550511798. (PARK)= Q

71550511799, (P=R) Vv (Q = R)

71550511800. (F VR)= Q

Mathematics Section B

Section Id : 715505224
Section Number : 2

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20

Enable Mark as Answered Mark for Review and
Yes
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Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 715505224
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 21 Question Id : 7155053702 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
LetA=141,2,3,4.......10} and B= {0, 1, 2. 3. 4}. The number of elements in the
relation R = {(a, b) EA x A: 2(a—b)* + 3(a—b) € B} is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 21 Question Id : 7155053702 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AFTA={1,2.3.4....... 10} 3R B = {0.1.2.3.418 | &=
R={(a,b)eEAxA: 2(a-b+3(a—b)e B} H 3qudl & U= &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 22 Question Id : 7155053703 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Let the pomnt (p. p + 1) lie inside the region

L= {(.t‘, y):3-x< y< J‘:'J —x* 0<x< 3}- . If the set of all values of p 1s the

interval (a, b), then b® + b — a“ is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

14

Question Number : 22 Question Id : 7155053703 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AHIES (pp+ 1) &F E = {{1 y):3-x< y< Jo— 2 ,0<x< 3} P 3 =T

¢! Of¢ p & T O &1 Y=Y <RI (2, b) 8. 06 b2 +b—a’ SIS B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155053704 Question Type : SA Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of ways of giving 20 distinct oranges to 3 children such that each
child gets at least one orange 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 23 Question Id : 7155053704 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

20 199 =i I 3 i § d[cH & dRidl, dild UdD 8= Bl &H J HH UDh
a3l e, dI O s

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155053705 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

15
: - - " 4 ¢ I "
The coefficient of x'® in the expansion of [_r'l 15

Response Type : Numeric

a
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Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 24 Question Id : 7155053705 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1S

{f‘ ' J & TR H 18 B UM §
X

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 25 Question Id : 7155053706 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Let a € £ and [t] be the greatest integer < t. Then the number of points, where the
function f (x) = [a + 13 sin x]. x € (0, m) 15 not differentiable, is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1N
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Question Number : 25 Question Id : 7155053706 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
0T ae 7 & 941 [t] HeaH Qoifd <t g1 a9 3 fagaff, sigf
f(x)=[a+13sinx], x (0, ) HIH A 6l ©, DI ST T

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155053707 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the area of the region S = {(x, V) : 2y —* <x° < 2y, x> v} is equal to
n+2 s | .

— . then the natural number 1 1s equal to
n+tl m=1"

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 26 Question Id : 7155053707 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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n+2 T
&
ﬂ:+1 n—1

qic & § = {{11} 2y—y <x° < 2yx 1 B &
SRIEY ©, 79 UIdhidd H&T n §aR ©

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155053708 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A circle passing through the point P(a, p) in the first quadrant touches the two
coordinate axes at the points A and B. The point P 1s above the line AB. The point
QQ on the line segment AB 1s the foot of perpendicular from P on AB. If PQ 1s equal
to 11 umits, then the value of ap 15

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 27 Question Id : 7155053708 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WU TG 9 P(o, B) ¥ §IHR 1 a1l U 34, FAERIS Siefl 31 fga A
Hiﬂaﬂ‘{mﬁwﬁlﬁgp AT AB I FW ¢ [6g P T AB R STe U 00d &l

0Te @Ras AB R f6g Q81 UG PQ =11 P8 5. dl o DIHM ©
&collegeduniaﬁ
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Response Type : Numeric




Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155053709 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the tangent to the curve x° + 2x — 4y + 9 = 0 at the point P(1, 3) on it meet the
y-axis at A. Let the line passing through P and parallel to the line x — 3y = 6 meet

the parabola y* = 4x at B. If B lies on the line 2x — 3y = 8, then (AB)” is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 28 Question Id : 7155053709 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
AT TP x> + 2x — 4y + 9 = 0 D [6g P(1, 3) TR TR 3@ y- 3l Dl fafig A W el g
TP E B3 S aTdll U x — 3y = 6 & THIAR @1, WAl 12 = 4 Pl [ B |

oreTcil § | afd fag B, W@l 20— 3y =8 W B, d (aB)® SR

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155053710 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

!:

21 =

Let y=1y(x) be a solution of the differential equation (xcos x)dy — (xysmx + yeos x— Lax =0, 0<x <

X i T .
1 3 then |~ r“(—} +3y’(— 15 equal to
X & 6 J \ 6 . E‘l

1..

A
It E!

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 29 Question Id : 7155053710 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT Hdhd GHIPI] [IL"‘OSI] dv + (xysin .1'-1—_}-‘-::&5:.1’—i]::ir:ﬂ,lf]-::.tc:E &

2
5 T | fi ' \'I
g

Response Type : Numeric

D[ HI-

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Equal

Text Areas : PlainText
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Possible Answers :

10

Question Number : 30 Question Id : 7155053711 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let the image of the point P(1, 2. 3) in the plane 2x —y + z=9 be Q. If the
coordinates of the point R are (6. 10. 7). then the square ot the area of the triangle
PQR 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 30 Question Id : 7155053711 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1 GHde 2x -y +z =9 B @ p(1, 2, 3) I UldfeE Q B 1 A [eg R &
4T (6, 10, 7) §. 99 HAYS PQR & &AHd 1 d7 &

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Physics Section A

Section Id : 715505225
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20

Section Marks : 80

Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505225
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 31 Question Id : 7155053712 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

By what percentage will the transmission range of a TV tower be attected when

the height of the tower 15 increased by 21% ?
Options:

71550511811. 14%

71550511812. 10%

71550511813. 12%

71550511814. 13%

a
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Question Number : 31 Question Id : 7155053712 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

OTq IR DI 3915 21% §¢l 41 O Tl U 14l TIaR ] FHRU TR [ Widwiq
I guTidd §FT 2

Options:

71550511811. 14%
71550511812, 10%
71550511813, 12%

71550511814. 13%

Question Number : 32 Question Id : 7155053713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Name the logic gate equivalent to the diagram attached

LED
l 1 '

:% | = Glow
v

o

&
A B
£

71550511815. NAND

Options:

a@
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71550511816. NOR
71550511817. AND

71550511818. OR

Question Number : 32 Question Id : 7155053713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
& Rid e & gaqe difvid 11e &1 A1 o

¥ +3V

} | LED
I ¢

N G\ ; :% :{E Glow

2.

-

Options:

71550511815, NAND
71550511816. NOR
71550511817. AND

71550511818. OR

a
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Question Number : 33 Question Id : 7155053714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A small ball of mass M and density p 1s dropped 1n a viscous liquid of density p,.

After some time. the ball falls with a constant velocity. What 1s the viscous torce

on the ball 7

Options:

{ P i

F=Mg | | — F‘“‘]

715505118109. \ a
P,

F=Mg |1+
71550511820. \ -/
\'I

F= Mg [1 v B
71550511821. o/

71550511822, F = Mg (1= pp,)

Question Number : 33 Question Id : 7155053714 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
M SoHE aYT p 99cd @1 U BIcl 11g p, 99 & [P L0H &d 4 ARG 8| T8
qOYg uYId, i U Fad 97 9 i PRl 81 71 U X9 9 &1 8?7

Options:
i FI
F=Mg | | .;
71550511819, \ }
71550511820.

a
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A
F=Mg |1+
(17,

B
F= Mg [l + .
71550511821. e} J

71550511822, T = Mg (1 =pp,]

Question Number : 34 Question Id : 7155053715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The energy levels of an hydrogen atom are shown below. The transition
corresponding to emission of shortest wavelength 1s

A H
E
| _ n 3
Lyl

-
|
£

|

1
I

Options:

71550511823. A

71550511824, B

71550511825,

71550511826. D

L]
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Question Number : 34 Question Id : 7155053715 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U IS o AU & FHol &Rl DI A o o S=1191 701 8| <AdH a1 g
& HId IfoiH Hsh AUl &:

A B
n
T
| n =23
1T

|
L

|
J

[ ——!

I

Options:

71550511823. A

71550511824. B

71550511825, &

71550511826. D

Question Number : 35 Question Id : 7155053716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The kinetic energy of an electron, u-particle and a proton are given as 4 K, 2 K and
K respectively, The de-Broglie waveleneth associated with electron (4e), a-particle
((~.0) and the proton (Ap) are as follows:

Options:

71550511827, A0.= Ap = he

a
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71550511828, M0 = Ap < Ae

71550511829, A0 = Ap = Ae

71550511830, /&= Ap = Ae

Question Number : 35 Question Id : 7155053716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U geidgl, o-PH 01 Ud U Wil &i T SHul HHT: 4K, 2K T K &
SCIaE I, o-PUI AU Wi J FrafAd SI-siTel ailatd HT: Je, ho TUT hp TH
TP B:

Options:

71550511827, A0 = Ap = Ae
71550511828, A0 < Ap < Ae
71550511829, A0 = Ap < Ae

71550511830, A0 = Ap = Ae

Question Number : 36 Question Id : 7155053717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A monochromatic light wave with wavelength /4 and frequency vy 1n air enters

another medium. If the anele of incidence and angle of refraction at the intertace

are 457 and 30° respectively, then the wavelength /- and frequency v, of the
&collegedumaa
India’s largest Student Review Platform

S

refracted wave are:




Options:

W, =y

71550511831, 42 =V 24, 1, =W

,.L}_

I
e Aa . Vi =V
71550511832, \JE

12 "2 l

|
71550511833, J2

— 1 __l'l—a
71550511834, 2 =412 1=V 2y

Question Number : 36 Question Id : 7155053717 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

arg H )., TG UG v, HGHT DI U Uhaull WhT=I a7l G H1e8H H Hdwl

&dl 1 gie 3d: Jdg U 3{TUdd DI IYT 39dd- HIUThHY: 45° T 30° g

dd Sfuafdd a7 &I e i, d g v, 8

Options:

a3
i

o -
— '.} p —
71550511831, 42 = V24, %, =V,

S pe— N VI 8}

7, 1* "2 |
71550511832. JE

. I
71550511833, 2

—3 LY
71550511834, 72 =41» Y= ‘*’C‘l

~

S
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Question Number : 37 Question Id : 7155053718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the plan electromagnette wave grven by E=E  stn (ot - kx) and B=B s (0t - kx), the ratto of average
electne eneray densify o average magnetic energy density 1

Options:

71550511835. 1
71550511836. 2

71550511837. 4

71550511838. 1/

Question Number : 37 Question Id : 7155053718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
YHdd dgdd 99% 19 a9 & (AU E = E_, sin (ot - kx) Ud B = B, sin (ot - kx) B,
319 faggd Sl g dYT 319d FHEH 1T Holl g-cd & 3UTd &:

Options :

71550511835. 1

71550511836. 2

71550511837. 4

71550511838. 1/2
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Question Number : 38 Question Id : 7155053719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The induced emf can be produced in a coil by

A. moving the coil with umiform speed inside uniform magnetic field

B. moving the coil with non uniform speed inside uniform magnetic tield
C. rotating the coil inside the uniform magnetic field

D. changing the area of the coil inside the uniform magnetic field

Choose the correct answer from the options given below:

Options :

71550511839, A and C only

71550511840, B and C only

71550511841, € and D only

71550511842, B and D only

Question Number : 38 Question Id : 7155053719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ud HUsl 4 Wikd [dedd a8 ad e (54T ol Jhdl &

A. U6 9 THHIT &4 J $Uscl B THIH Ird d Tid gR
B. U HHI H T &1 H US Pl SFHHM =1ef I Tid &R
C. UHhEOH JES1d &3 1 HUsal P guiH gR

D. TH T D &3 4 HUsal P &ahd H IRad gRI

I U U f[dP el H ¥ el 3R gHU:

Options:

71550511839, Bdd A dUI C
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71550511840, Bdd B dUI C

71550511841, ®dd C U D

71550511842, dd B dUI D

Question Number : 39 Question Id : 7155053720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
A particle 138 moving with constant speed 1n a circular path. When the particle turns
by an angle 90, the ratio of instantaneous velocity to its average velocity is

7 x+2 . The value of x will be -

Options:

71550511843, 7

A

71550511844.
71550511845. 2

71550511846. 1

Question Number : 39 Question Id : 7155053720 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U HUI [ 4l oldR Uy TR gd 91d I Tid SR IET ¢ | e DU
YHl &, Ol 34D &ff01e 971 aUT $9d a DI U 7 x2 Bl x

o NPPRESY |1 S
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71550511843. 7
71550511844, 5
71550511845. 2

71550511846. 1

Question Number : 40 Question Id : 7155053721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A long straight wire of circular cross-section (radius a) 1s carrying steady current 1.
The current I 13 unitormly distributed across this cross-section. The magnetic field
15

Options:

uniform in the region r = a and mversely proportional to distance r from the axis,
71550511847, in the region » > a

71550511848 Zzero in the region r < a and mversely proportional to » 1n the region v = a

directly proportional to r in the region » < a and inversely proportional to r in the
71550511849, region i = 4

mversely proportional to » in the region ¥ < a and uniform throughout in the region
71550511850. r = a

Question Number : 40 Question Id : 7155053721 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1




JAIPR I IR (FAetl-a) & v el WY TR & varfed ®IE YRI1 G URTI
=4 U UR=sq § UhUAH 30 ¥ fddkd § 1 IE$U &9 3

Options:

1550511847 F < a URER H UHHHAM U4 » > o URER H 378 F 1 » & Feh ANl

< q IR YA UG > g YRET T » S b YU

=l

71550511848.

21550511849 F < a UIRER » & FHMUI! Ud r > a URIR T » & HehHIUI

71550511850, 7 < a URIR H » & SIGHAMN Td > o YU IRIRH THHHA

Question Number : 41 Question Id : 7155053722 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The resistivity (p) of semiconductor varies with temperature. Which of the
tollowing curve represents the correct behaviour

Options:

71550511851. 1 -

P

=TAFrArAaAaAamr.,
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71550511853. T

71550511854. T

Question Number : 41 Question Id : 7155053722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HE ATAD DI WARIYEHT (p) 1Y & I Faadl | FH H I HIH T dh Fal
AgR Wal¥Id Hdl §:

Options:

P

71550511851. I =

71550511852.

a
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b

71530511853. T

71550511854.

- ]

Question Number : 42 Question Id : 7155053723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For a uniformly charged thin spherical shell, the electric potential (V) radially
away from the centre (O) of shell can be graphically represented as -

L]
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| >
71550511855, F=K -
\“f
|
|
|
[
|
| >
71550511856. r=K r
VoA
|
|
l
|
71550511857. r=R r
VoA
r=AR
==
71550511858, r

Question Number : 42 Question Id : 7155053723 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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UHHH M1 U Idd g B & 6, SN & &% (0) &
R GER @1 3R fdegd faya (v) &1 99 U1 gR1 waikld far o g

A
Options:
VoA
: ==
7155051 1855. F= B g
o
e
7155051 1856. p=R ’
Vo
|
|
|
|
71550511857. r=R Ty
VoM
r=n
— — —
71550511858. ’

]
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Question Number : 43 Question Id : 7155053724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A mass m 15 attached to two strings as shown m figure. The spring constants of

two springs are K and K. For the frictionless surface, the time period of

oscillation of mass m s

i

|
27 |

(. R
71550511860, V-1~ K2

71550511861, 27\ m

I ||IE"1 - KE

—al
71550511862. 27\ m

K,

K> |
— T T

I. |'IK1+K:3

Question Number : 43 Question Id : 7155053724 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

~

S
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yaRid i o U SotiH m &1 RBRTT A oo1 8 | <1 8 & B Fadie K,
K, B gYU I5d Tde & L, SoudM m & GlaH 31 Haddid o:

T

i |

-

F ]

71550511859.

|
M

VER1-Ky

‘L'

71550511860.

r
1K+ K,
71550511861. 27 N m

1 |'IK1 - KE

l
71550511862. 27\ m

Question Number : 44 Question Id : 7155053725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A source supplies heat to a system at the rate of 1000 W. If the system performs
work at a rate of 200 W. The rate at which internal energy ot the system increases
18

Options:

71550511863. 300 W
71550511864. 600 W

71550511865. 1200 W
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71550511866. sU0 W

Question Number : 44 Question Id : 7155053725 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UH |id 1000 W D1 &2 9 U P I S UgH Sdl ¢ | afe Hemr™ 200 w
®1 3 Y P Pdl ¢ | 98 2. o R o &1 e Foit 9gdl o

Options:

71550511863. 300 W

71550511864. 600 W

71550511865. 1200 W

71550511866. 800 W

Question Number : 45 Question Id : 7155053726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The number of air molecules per cm” increased from 3 x 10'% to 12 % 10'”, The
ratio of collision frequency of air molecules betore and atter the increase in
number respectively 1s ;

Options:

71550511867. 0.25

71550511868. 0.30
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71550511869. 0.73

71550511870. 1.235

Question Number : 45 Question Id : 7155053726 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wifcl 94 1. I U3 1 F=A1 3 > 101° F 12 « 101° TF 96 Wil g1 A
313t T T § gl & Ja Ud d1g # A< ug 31gfd &1 3HUrd &:

Options:

71550511867. 0.23

71550511868. 0.30

71550511869. 0.73

71550511870. 1.25

Question Number : 46 Question Id : 7155053727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Two resistances are given as Ry =(10=0.5) Q and R, = (15 = 0.5) Q. The

percentage error in the measurement ot equivalent resistance when they are
connected in parallel 1s -

Options:

71550511871, 4.33

71550511872, 6.33
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71550511873, 233

71550511874. 5.33

Question Number : 46 Question Id : 7155053727 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A URIY Y UBRIGT T B R, = (10=0.5) QUI R, =(15=0.5) Q| T T
AR 94U § §S g1 a9 ded "oy & 310+ d wided 3¢ ©:

Options:

71550511871, 4.33
71550511872. 6.33
71550511873. 2.33

71550511874, 5.33

Question Number : 47 Question Id : 7155053728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one 15 labelled as Assertion A and the other 15
labelled as Reason R.

Assertion A : When a body is projected at an angle 45, it's range is maximum.
Reason R : For maximum range, the value of s 20 should be equal to one.

In the light of the above statements. choose the correct answer trom the options

oiven below:
&collegedumaa
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71550511875 DBoth A and R are correct and R 1s the correct explanation of A

71550511876 Both A and R are correct but R 1s NOT the correct explanation of A

71550511877. A 1s true but R 1s false

71550511878. A 15 false but R 1s true

Question Number : 47 Question Id : 7155053728 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
- gl Sy [ T §: U DI ATUSYT A 7Y G &l PRI R Y [f=Ed fhal

T8
ATUFYT A : 04 U [UUS &l 45° & D10 R HaUd far o1dl g, S0P WS
AfHdq gl

PRUTR : HYDHITH R & AU, sin 260 BT HH UP @ sR6L ol 41 gl
SRIFd HYHl & GeH 1 i 68 1 fddhedl § ¥ Hel SR IHT:

Options:

71550511875. Ad R Cﬂ“ﬁHEﬁ% «3?[? R. A ﬁﬂﬁ o [xe] %

11550511876 A @ R&HI T8l § W R, A I el URAT 81 &

71550511877, A Tl & I R el 16! ¢

71550511878, A 96! 7ol & T R Te1 &

a
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Question Number : 48 Question Id : 7155053729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A small block of mass 100 & 15 tied to a spring of spring constant 7.5 N'm and length 20 em. The other end of
spring 15 tixed af a particular point A, It the block moves m a carcular path on a smooth horizontal surface with
constant angular velocity § rad’s about pomnt A, then tension tn the spring 15 -

Options:

71550511879. 0.23 N
71550511880. 0.50 N
71550511881. U.73 N

71550511882. 1.5 N

Question Number : 48 Question Id : 7155053729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

100 ¢ FEHM & U BIC TP Pl 20 cm T TH 7.5 N/m ST HGdIS & U@
T aTert 717 8 | 81 1 k1 iR U fAfEd fog A ¥ g1 81 afe e
[67g A @ URA: 5 rad/s [0 UG I TH A5 &ias 70 IR TP TSR
Sl T Tfd Sl g | BT a9 &:

Options:

71550511879. 0.25 N

71550511880. 0.50 N

71550511881. 0.75 N

71EENE11RR72 1 & N
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Question Number : 49 Question Id : 7155053730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : one 15 labelled as Assertion A and the other 13
labelled as Reason R.

Assertion A : Earth has atmosphere whereas moon doesn't have any atmosphere.

Reason R : The escape veloeity on moon 1s very small as compared to that on
carth.

In the light ot the above statements, choose the correct answer from the options
given below:

Options:

71550511883 DBoth A and R are correct and R 1s the correct explanation of A

71550511884 Both A and R are correct but R 1s NOT the correct explanation of A

71550511885. A 1s true but R 1s false

71550511886. A 1s false but R 1s true

Question Number : 49 Question Id : 7155053730 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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rﬂ&%c?r U 48 T §: U & MTUSYT A TUI 5 ] RUIR Y [fed
T8

TUTYA A : 524l &1 IHUSH ¢ TaiD F-5H] Pl Plg aHUSH 6] 6|

ST R : G2 B qor-T H T5H1 IR UaE 971 §5d DH BIdl o
Ui Syl & Hau ¥, i 40 1 faeedi § 9 98l S gHu:

Options :

71550511883. AGREA Tel B Sﬂ?Rf A D! Yol oURAN B

1550511884 A TR G U6l 6 U] R, A Pl Yg! IR 181 o

71550511885, A 961 ¢ IR-gR Te! 76l ¢

71550511886, A T6l 76l © UR-g R el &

Question Number : 50 Question Id : 7155053731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A planet has double the mass of the earth. Its average density 1s equal to that of the
carth. An object weighing W on earth will weigh on that planet:

Options:

71550511887. W

71550511888. 2 W
71550511889, 2+ ° W

71550511890, 217 W

a
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Question Number : 50 Question Id : 7155053731 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 98 T SoqH Gl & SouH U &l 7T € | ST 34 U-ied gl & U

& SRIER ¢ | U %] B G2l U HIY] T YR W B 1l 39 U8 U UR BII:

Options :

71550511887. W

71550511888. 2 W

71550511889, 2% ° W

71550511890. 217 W

Physics Section B

Section Id :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:
Maximum Instruction Time:

Sub-Section Number :

715505226
4

Online
Mandatory
10

5

20

Yes
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Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 51 Question Id : 7155053732 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A person driving car at a constant speed of 15 m/s 1s approaching a vertical wall.
The person notices a change of 40 Hz in the frequency ot his car’s horn upon
retlection from the wall. The frequency of horn s Hz.

(Given: Speed of sound : 330 m/s)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 51 Question Id : 7155053732 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s od'&ﬁiﬁ m/s 1 U (H9d 91 I HR Iald gU U IEIUR SlaR DI AR
Ted el § | BF @I @ & dldR I Wiad- g4 IR, oiad R & gi- &1 Hafd
T 40 Hz &1 9Rac WK DRl & | Bl &I G Hz &

(fean g, @f @191 : 330 m/s)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

1M
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Question Number : 52 Question Id : 7155053733 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A pole 15 vertically submerged in swimming pool, such that it gives a length of
shadow 2.15 m within water when sunlight 1s incident at an angle of 30° with the
surtace of water. If swimming pool 1s filled to a height of 1.5 m, then the height of
the pole above the water surface 1n centimeters 1s (n,, = 4/3)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 52 Question Id : 7155053733 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U TR (G g T SH@NeRd: 59 PR @31 ¢ [ 98 UMl & < 2.15 m
T BT &l § o 4 Bl febeul Uil T s & FrY 30° & HI0 R 1afd
gidl 71 I RGfHT 4 1.5 m B $918 0 RT3 81, 1 I D g & IR
G B SIS (GHLE) 8 (n,=4/3) |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

149

Question Number : 53 Question Id : 7155053734 Question Type : SA Calculator : None
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Correct Marks : 4 Wrong Marks : 1
The radius of fifth orbit of the L1 7 1s x 1071% m.

Take: radius of hydrogen atom = 0.51 A
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 53 Question Id : 7155053734 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-

Li™ i Ulddl H&T S Hodl <107 ma

(BTSN URHM] ®f {398 =0.51 A ©)
Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155053735 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An 1deal transformer with purely resistive load operates at 12 KV on the primary
side. It supplies electrical energy to a number of nearby houses at 120 V. The
average rate of energy consumption in the houses served by the transtormer 1s 60

kW. The value of resistive load (Rs) required 1n the secondary circuit will be
&collegedumaa
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 54 Question Id : 7155053735 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U AHTeR TR WUHS 958 IR 12 kV R IS HoRIYS &S & 914 SR
Bl g1 T8 120 VIR $g (Hdbcad! ORI B [dggd FHoll HaH $dl § | TDER
GRIERI H &l 715 ol @ud $i 310d & 60 L:ﬁf%l fgdia iRy ¥ 3(awgs
HiaIy® 9IS (R, ) BT HMF mQ G|

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 55 Question Id : 7155053736 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The length of a metallic wire 1s mncreased by 20% and 1ts area of cross section 1s
reduced by 4%. The percentage change 1n resistance ot the metallic wire 1s

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

a@
gcollegedumaa
India’s largest Student Review Platform

S



Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 55 Question Id : 7155053736 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Ylicdd aR I AHTs 20% Te1 o 9lldl § R 59D SR UR=SS &
g‘:ﬂu}m 1% T2 T 91 81 enfas aR & wiosry & ufawrd aRkad=
|

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155053737 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A parallel plate capacitor with plate arca A and plate separation d 1s filled with a
dielectric material of dielectric constant K = 4. The thickness of the dielectric
material 1s x. where x < d.

Plate - 1
A Dielectric
X ' ' o
Plate - 2
) | ., y ] - 2d
Let Cq and C» be the capacitance of the system for X = Er.;f and X = 7

— R — —— e - o T L ——

a
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Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 56 Question Id : 7155053737 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

WIc 8ABA A TUT Wl S §Id B gl d P TP TR Wie JUIRa BT & = 4
RIAYiP & URIAGYd Jard I +R &0 71 ¢ | TRidegd yerd &t Hiels x ¢,

vigl x <d.
Plate - 1
d Dielectric
) ¢
Plate - 2
R1degd
VA ; %
Ol .1*:%4 qur x =‘ff‘" & o0 Fag ot yIRAU HH9: ¢, C, 81T ¢ =
: e
2uF, C, A uF B

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two identical circular wires of radius 20 cm and carrying current, /7 A are placed
in perpendicular planes as shown in tigure. The net magnetic tield at the centre of

the circular wires 1s % 107° T

(Take 7t = 3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 57 Question Id : 7155053738 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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20 em 3901 & &l UHHHM TAIER ORI B! GAFMER @rgad dal 4 @15 AR

T YaIfed URT /7 Ag| TAISR IRl & &% |R $d FEHT &4
108 TB

e e, n=3.14)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 58 Question Id : 7155053739 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A steel rod has a radius of 20 mm and a length of 2.0 m. A force of 62.8 kN

stretches it along its length. Young's modulus of steel is 2.0 x 101! N:’mz_ The

longitudinal strain produced in the wire 1s w 107

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

a
&collegedumaa
India’s largest Student Review Platform

S



Question Number : 58 Question Id : 7155053739 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Lid §S DI (3581 20 mm Ud W15 2.0 m 71 62.8 kKN DI §¢ 39 Twalg &
3G Wil § | TIe T T Tl TN 2.0 « 101 N'm? 81 IR & I4d
&?ﬂf T&%‘?E v 1072 %‘“l

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155053740 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A particle of mass 10 g moves 1n a straight line with retardation 2x, where x 15 the
displacement 1in SI units. Its loss of kinetic energy tor above displacement 1s
: — It
10 .
— | I. The value of n will be

= .1-

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 59 Question Id : 7155053740 Question Type : SA Calculator : None

a
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Correct Marks : 4 Wrong Marks : 1
10 g TOOHM &1 U B0l 2x HeA & 1Y UF I @1 H i Il ©, 9B x, SI

AEE | RO 81 99d AR & o s9at TTidw 39l 81 []_ﬂ_” J8ln

X

-

CAREIE S|

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155053741 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Two 1dentical solid spheres each of mass 2 ke and radn 10 cm are fixed at the ends
of a light rod. The separation between the centres of the spheres 1s 40 cm. The
moment of inertia of the system about an axis perpendicular to the rod passing

! . a . - 7
through 1ts middle point 1s < 107 keg-m”

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 60 Question Id : 7155053741 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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2 kg TOOHT YT 10 em 13991 & &1 U JHMH BRI 7MW P TP §obl 6§ B

[h-RI TR Wil a1 T/ B | el & Sl & ol DI g3l 40 em & | BS & aigad

31¢f, 1l {6 &8 & A fag 9 ToRdl 3. & ufe: Fiama 1 wiga sy
% 1073 kg--mz %|

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Chemistry Section A
Section Id : 715505227
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 80
Enable Mark as Answered Mark for Review and
Clear Response : ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505227
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 61 Question Id : 7155053742 Question Type : MCQ Option Shuffling : Yes Is

Miiactinn Mandatarir s Na Calrilatar s Nlana Daenanca Tima * N A Think Tima * N A Minimiom

a
gcollegedumaa
India’s largest Student Review Platform

S



Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A compound 1s formed by two elements X and Y. The element Y forms cubic close
packed arrangement and those of element X occupy one third of the tetrahedral
voids, What 1s the formula of the compound ?

Options:

71550511901, Y 3
71550511902, 3 Y
71550511903, 21 3

71550511904, %3 ¥ 2

Question Number : 61 Question Id : 7155053742 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Ui € dcdl X AR Y Y §91 8| dd Y B [Rfds T a1 8 3R dd
X dquhad g Riddl &1 U fdgls &1 uxdl ¢ | aiiTe B 9 31 82

Options:

71550511901, -1

il

71550511902, 3 Y

71550511903, <~2 Y 3

71550511904, %3 ¥

-
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Question Number : 62 Question Id : 7155053743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
For a concentrated solution of a weak electrolyte (K, = equilibrium constant) A,B; of concentration ‘c’, the

degree of dissociation “0' 18

Options:

|
\s

ey

P
71550511905, \ 0€™

( = T
ef
: : l_l’q
71550511906, \ 1 08¢

1
(K \s
L'

4
71550511907, \ 2€

(K 3
l'.’nl:l|_'

ﬂ

L7
71550511908. \. <~¢

Question Number : 62 Question Id : 7155053743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ol ga dagd HTUC (K., = WHTaeN RRRIE) A,B,. FoTHE! Il '8, & 9% fawg & ford e
G RPIEA

Options:

71550511905.
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|
K s

&4

6¢” )

.

( K. }
—
71550511906, \ 1 USC

(’K :
| {"rz}'
5¢”

71550511907, \ ~¢
| |
K \s
l‘.’i_l'
25¢°
71550511908, \ <=¢ /

Question Number : 63 Question Id : 7155053744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI- LIST II -
Enzrvmatic reaction Enzvme

A [Sucrose — Glucose and Fruetose Vinase

GTLUEEIE-E — ethyl alechol and CO;
 C. [Starch — Maltose
IGtEiﬂE — Amino acids

Choose the correct answer from the options given below:
Options:
71550511909, A=l B-IL, C-IV, D-1II

71550511910, A-1IL B-I, C-IV, D-II
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71550511911, A-IL B-lL, C-II, D-IV

71550511912, A-I. B-IV, C-III, D-II

Question Number : 63 Question Id : 7155053744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Gl 1 1 11 T HHCId B |

T 1 -
$

P — 1 m“ﬂ R Paed -

-1 68 T fahedl O ¥ Iel IR &I I

Options:

71550511909, A-L. B-II. C-IV, D-III

71550511910, A-IIL, B-I, C-IV, D-II

71550511911, A-IL B-L, C-II, D-IV

71550511912, A-L. B-I'V, C-III, D-II

Question Number : 64 Question Id : 7155053745 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegeduniaﬁ
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Correct Marks : 4 Wrong Marks : 1

The difterence between electron gain enthalpies will be maximum between:
Options:

71550511913. Ne and F

71550511914, Ne and Cl

71550511915, Arand |

71550511916. Ar and C]

Question Number : 64 Question Id : 7155053745 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
gaide T dlfed] Tl &l 3R S8 ad gil -

Options:

71550511913. Ne IRFH ad §

71550511914. Ne iR ClF g9 1

71550511915, Ar AR F B dd H

71550511916, Ar AR Cl P g4 T

Question Number : 65 Question Id : 7155053746 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

a@
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Which of the following options are correct for the reaction
2 [Au (CN),] (aq) + Zn (s) — 2 Au (s) + [Zn (CN), ]2 (aq)

A. Redox reaction

B. Displacement reaction
C. Decomposition reaction
D. Combination reaction

Choose the correct answer from the options given below:

Options:

71550511917, A and B only

71550511918, A only

71550511919, € and D only

71550511920. A and D only

Question Number : 65 Question Id : 7155053746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&t g sififepar & ford 1= 91 fasrey 9gl &

2 [Au (CN);] (ag) + Zn (s) = 2 Au (s) + [Zn (CN)4}* (ag)

A HOUIOayg HHThar
B. [aTUT9 {1 ihdr
C. {gueT AU
D. GATTHD HThdl

414 &g 0 faeeal ¥ 9 Iel SR &l I

Options:

71550511917, #dd A 3R B
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71550511918, Pdd A

71550511919, @dd C 3R D

71550511920, Bad A HR D

Question Number : 66 Question Id : 7155053747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one 15 labelled as Assertion A and the other 15 labelled as Reason R.

Assertion A : Loss of electron from hydrogen atom results in nucleus of ~1.5 x 10~ pm size.

Reason R : Proton (H ') always exists 1n combined form,
In the light of the above statements, choose the most appropriate answer trom the options given below:

Options:

71550511921 DBoth A and R are correct and R 1s the correct explanation of A

71550511922 Both A and R are correct but R 1s NOT the correct explanation of A

71550511923, A 1z correct but B 13 not correct

71550511924, A 1s not correct but R 1s correct

Question Number : 66 Question Id : 7155053747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 15 labelled as Assertion A and the other 15 labelled as Reason R.

HUFYT A : TG0 WH Y SATRH & HHw F~1.5 x 107 pm HR BT B4 ol oIdl 5|
BRI R : FIEH (H7) §90 434 29 ¥ Gl &
SIRId HUA| & Gl | A 42 T fdohedi § 4 9ed Sfd IR 3l I+:

Options :

21650511921 A SRR & G 8 IR R, A I Yol AR 6|

2156051197 A SRR &FI 9 & 3R R, A P Yo! ARAT ol ol

71550511923, A M UXf R Jidcd ol

71550511924, A 3T g R I ¢

Question Number : 67 Question Id : 7155053748 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The standard electrode potential of M/ M 1n agueous solution does not depend on
Options:

71550511925. Sublimation of a solid metal

71550511926 lonisation of a gaseous metal atom

71550511927. Ionisation of a solid metal atom

71550511928 Hydration of a gaseous metal 1on

Question Number : 67 Question Id : 7155053748 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A =g fdud M~/ M S b 30=a= &fdi @] 419 gl § 1R =8l ddi g
Options:

71550511925, SH@adTd" Jall

71550511926, HTAAIH0] S|

71550511927, HTE fGUS G

271550511928, Tado ]

Question Number : 68 Question Id : 7155053749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The setting time of Cement 1s increased by adding

Options:

71550511929. Limestone

71550511930, Clay

71550511931, Uypsum

71550511932. Silica

Question Number : 68 Question Id : 7155053749 Question Type : MCQ Option Shuffling : Yes Is
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
= & 954 & 999 @I deldl ofl 95l o SIRET:

Options:

71550511929, 1 Helx

71550511930, 191! (HE]

71550511931, [oTH

71550511932, [HITeid]

Question Number : 69 Question Id : 7155053750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LISTII
Oxide T‘.'[_IE of bond

A0, [TiN-Obow

EEN NN Y R

WD _ — N bond
-0 N=N /N =N bond

Choose the correct answer from the options given below:
Options :
71550511933, A-IlL B-I. C-IV, D-II

71550511934, A-lL, B-L, C-II, D-1V
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71550511935, A-LL, B-IV, C-1II, D-I

71550511936, A-1l, B-1. C-III, D-IV

Question Number : 69 Question Id : 7155053750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt 1 ! G 11 GAferd PR

A1d [ T fadedl J U el S &l g:
Options :
71550511933, A-IIL B-I, C-IV, D-II

71550511934, A-LL B-l, C-II, D-IV

71550511935, A-1L. B-IV, C-III. D-I

71550511936, A-IL, B-I, C-III, D-IV

Question Number : 70 Question Id : 7155053751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options:

71550511937, Ce*™ and Eu®™

71550511938, Eu* " and Ce™™

71550511939. Ce ™ and Ce*™

71550511940, Ce* and Tb*™

Question Number : 70 Question Id : 7155053751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FEfeRId 4 HOg: Uad U 3R AaHIPRS
Options:

71550511937, Ce*™ 3R Eu?™

71550511938, Eul™ 3R Cce?™

71550511939, Ce> ™ ¥ Ce™™

71550511940, Ce*™ 3f¥ Th*™

Question Number : 71 Question Id : 7155053752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The possibility ot photochemical smog formation 1s more at
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Options:

71550511941 1he places with healthy vegetation

71550511942. Industrial areas

71550511943, Himalayan villages m winter

71550511944, Marshy lands

Question Number : 71 Question Id : 7155053752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
B TIRATG §H &1 1T SHi¥dhay glal o

Options:

71550511941, Ul TTEIA ATe SHIGI TR

71550511942, AT &A1 H

71550511943, 80 H [gATadl I1ai

71550511944, Gaadl YH T

Question Number : 72 Question Id : 7155053753 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Given below are two statements. one 15 labelled as Assertion A and the other 1s
labelled as Reason R.

Assertion A: The spin only magnetic moment value for [Fe( CNjﬁ]E'_ 1s 1.74 BM,

whereas for [FE(HEG)ﬁ]E_ 15 5.92 BM.

Reason R : In both complexes, Fe 1s present in +3 oxidation state.

In the light of the above statements, choose the correct answer from the options
given below:

Options:

71550511945 Both A and R are true and R 1s the correct explanation of A

71550511946 Both A and R are true but R 1s NOT the correct explanation of A

71550511947, A 1s true but R 15 false

71550511948. A 1s false but R 15 true

Question Number : 72 Question Id : 7155053753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements. one 1s labelled as Assertion A and the other 1s
labelled as Reason R.

HTUFYT A: [Fe(CN)]*~ & Das WahUl 8P 30l BT - 1.74 BM ©
SEid [Fe(H,0):]*” 5.92 BM & |

BRUTR : S GPal H HTRA +3 YD G T T
SRIFId DYl & T4 H 4 & 70 f[dpedl I Tely 3R &l I

Options:

21550511945 A SRR &HI G0 8 IR R, A Bl Yol AR &

qacenci1o1c A AR REH T E AR R. A B Jel AR Tl &
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71550511947, AN HX( R SRR

71550511948, A AN RJRII®

Question Number : 73 Question Id : 7155053754 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

" HCL A .
Compound P ——> Filter

(MF. C, H,ON)

M.F = MOLECULAR FORMULA

Residue ()

Filtrate

\l NaOH

Oily Liquid R.

Compound P 15 neutral, Q gives effervescence with NaHCO; while R reacts with Hinsbergs reagent to grve

solid soluble in NaOH. Compound P 1
Options :

()

@/L\H |
| i: }
71550511949, ~ (il

ﬂ’;:““u"fl = N — CH
71550511950. \%, 2y~ M

o

715503511951, CH,

Ly

- o la
71550511952, me” ~~ R

~
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Question Number : 73 Question Id : 7155053754 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Tiffid p

_, HCI, A
Compound P
(MF. C,H,,0N)

M.F = MOLECULAR FORMULA

Filter —

—> Residue Q

—> Filtrate

\L NaOH

Oily Liquid R.

e P 3G §, Q NaHCO, & H1Y W& gad odl ¢ waidh R fo-ue idHd ¥ e e |

NaOH Jiid 619 ¢l g | A& P &:

Options:

71550511949, ~>~ CHy

i

Ii\rf]’m — ‘ T -
71550511950, ~=~ i&) H

71550511951, l".!

[i H i

71550511952, me”™ "

~

S

collegedunia:

India’s largest Student Review Platform



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIST II

Elemmt detected |Reagent used / Product forme

.!- litrogen i la; []:E(Cﬂ”ﬂﬁ NO]

E
E

Choose the correct answer from the options given below:
Options :

71550511953, A-IL, B-I. C-IV, D-III

71550511954, A-IIL B-1. C-IV, D-II

71550511955, A-IL. B-IV, C-1, D-III

71550511956, A-LV, B-1I, C-I, D-III

Question Number : 74 Question Id : 7155053755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl 1! gi- 11 F HRId DL |

e O
N T A TR

A e Ay 7 e = —
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Options:

71550511953, A-II, B-I. C-IV, D-III

71550511954, A-IIL B-I, C-IV, D-II

71550511955, A-1l, B-IV, C-I, D-III

71550511956. A-LV, B-1I, C-I, D-III

Question Number : 75 Question Id : 7155053756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the reaction

Acetone

RCH,Br + I > RCH,l + Br

major

The correct statement 1s

Options:

71550511957. The reaction can occur in acetic acid also.

71550511958 DBt can act as competing nucleophile.
71550511959 Lhe solvent used in the reaction solvates the 1ons formed 1n rate determiming step.

The transition state formed in the above reaction is less polar than the localised
71550511960. anion.

Question Number : 75 Question Id : 7155053756 Question Type : MCQ Option Shuffling : Yes Is

nll‘ﬂb:‘_ nn-“.d_.h.-.ulli L...-. F_.I‘III-*-I-I nl-_ﬁ n’ ------- T:HA ] nl n Th=_ll T:HA L | ll .n nn:“:ml-_-
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Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&t 11g sifirfepan & ford
Acetone
RCHl Br + I > R‘CHEI + Br
major
I SY &:
Options :

71550511957, UIcd 3HFd H HI AHATHIhTT &l bl gl

21550511958 Br WY H® UG Ho! &I dis $1U $2 Hhdl ol

3fiHfebar H Iugi o 1 [darge 4t HYRe oH H §4 34| & [dgiiae
71550511959, P adl &

SR ol 75 SAYTerar H & YohHul ey WFARITHG B 3 &4 ydig oidl

71550511960. g

Question Number : 76 Question Id : 7155053757 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The major product formed in the following reaction is

Options :

CONIH, Bry / NaOlLL

A

%:.

COOC 'H_-_;

71550511961. 0

&collegeduniaa
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71550511962.

71550511963. O

71550511964. O

Question Number : 76 Question Id : 7155053757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 713 ififdear § &9 UHE IS §

CONI 1-3 BJ!‘: " NaOLH

A

=

COOCH,

Options :

71550511961. O

71550511962.

]
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71550511963. )

71550511964. 0

Question Number : 77 Question Id : 7155053758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Match List I with List II
LIST I LISTII

Name of reaction Reagem used

-I lell-Volhard-Zelinsky reaction -

( 1} Br> / red phosphorus
C. [Etard reaction I11. (i) H,0

Gattf-fmaﬂ—hoch reaction IV. [CO, HCL anhyd. AlCI;

Choose the correct answer trom the options given below:
Options:

71550511965, A-L B-1I. C-1II, D-IV

71550511966. A-1L B-1I, C-I, D-IV
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71550511967. A-lIL B-I, C-II, D-IV

71550511968, A-IIL B-1, C-IV, D-II

Question Number : 77 Question Id : 7155053758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

gt 1 1 11 F HIeTdh B

Eiﬂﬂlﬂ'

S*IILIIE I_.]';|J— I |0 CrD-uﬂLl« CS- (1) H,O

I ) ey / KT ISP () B
JUH{HH Hg Tfeear ‘0, HC1, anhyd. AlCl;

- feg 7 fom el I Tl IR &I 9.

Options:

71550511965, A-L. B-1I, C-III, D-IV
71550511966. A-IIL, B-IL, C-1, D-IV
71550511967, A-IIL, B-I, C-II, D-IV
71550511968, A-IIL, B-I, C-IV, D-II

Question Number : 78 Question Id : 7155053759 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

gcollegeduniaﬁ
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Correct Marks : 4 Wrong Marks : 1

The major products A and B from the following reactions are;

H

N
. W( HI-E .'"a""'L'LOH
B<—— O : > A

Options:

Bl H
&\IF/ O/“‘xf‘
4 4 I 0
715505119609. Hi

By

i §
N N

A \\“’/ £ \rf

() | (H

71550511970. B T~ i

s H

N -
A () ., B
71550511971. e Br |

H
N _ N ;
71550511972, =

N,

Question Number : 78 Question Id : 7155053759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Faferfaa sfifear T €9 a5 A IIRB &

H
N
ﬁ( Br, / AcOH
B<— O > A
L1AITH, 0

Options:

/71550511969.
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71550511970. By b

8]

H
M. Ny
/71550511971. P fir -
3 H
N %
NOREIOR"
/1550511972. By

Question Number : 79 Question Id : 7155053760 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Polymer used 1 orlon is:

Options:

71550511973 Polyacrylonitrile

71550511974, Polyamide

71550511975, Polyethene

71550511976, Polycarbonate

s B - aeg e - -—
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
IR O yaiT fhar - arel a5 o

Options:

71550511973, TICIUIHAMTSCIE

71550511974, GICIUAISS

71550511975, Qi

71550511976, GilcidId e

Question Number : 80 Question Id : 7155053761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST II
Vitamin Deficiency disease

-IEI Beri-Beri

-
II*!

Choose the correct answer from the options given below:

Options:
71550511977, A-IV. B-L, C-III, D-II

71550511978. A-IIL, B-I, C-IV, D-II

—arrmrAaraan=~ A TIT B_IT _TYXT TO_ T
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71550511980, A-IV, B-II, C-III, D-I

Question Number : 80 Question Id : 7155053761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 1 &l ﬂtﬂllﬁ@ﬁ%d P

o | e

-EI"

& R v [ oo
N il o e A

41 f&d 74 fadedl 9 9el S &I 94

Options:

71550511977, A-LV, B-I, C-III, D-II

71550511978, A-1lL B-1, C-IV, D-II
71550511979, A-IL B-IL, C-IV, D-I

71550511980, A-1V; B-II, C-1II, D-I

Chemistry Section B

Section Id : 715505228
Section Number : 6
Cartinn funo Nnlina
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Mandatory or Optional : Mandatory

Number of Questions : 10
Number of Questions to be attempted : b

Section Marks : 20

Enable Mark as Answered Mark for Review and

Clear Response : ves
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 715505228
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 81 Question Id : 7155053762 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
It 5 moles of BaCl, 1s mixed with 2 moles of Na;PO,, the maximum number ot

moles of Ba3(PO,), formed 1s (Nearest integer)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 81 Question Id : 7155053762 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Tl BaCl, & 5 A @I 2 HId Na,PO,, 4 FIf3d fawam 791 € a1 Bay(PO.), & &1

e dH Hidl P J=1 gl (FMaden quis)
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Response Type : Numeric




Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 82 Question Id : 7155053763 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T ST e o 128 1 s -
The wavelength of an electron of kinetic energy 4.50 % 1077 J 15 < 10~ m. (Nearest integer)

Given : mass of electron is 9 x 10~ ke, h=6.6 x 107" I ¢

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14

Question Number : 82 Question Id : 7155053763 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4.50 x 1072° TR Sl AT Sede M @I Al oeld <107 m g1 (FdeH quid)
[GUT T : SeideH BT GEHM 9 x 10° ko, h=6.6 x 104 T s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText
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Question Number : 83 Question Id : 7155053764 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The number of species from the following which have square pyramudal structure 1s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 83 Question Id : 7155053764 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Fafdfad § O 971 OufisSt 9= ard wnfag! ot 9= el

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 7155053765 Question Type : SA Calculator : None

a
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0




The value of log K for the reaction A # B at 298 K 1s . (Nearest integer)

Given: AH° =-54.07 kJ mol™!
AS° =10 TK! mol™
(Take 2.303 x 8.314 % 208 = 5705)

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 84 Question Id : 7155053765 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
208 K A0 R SAIHIHUT A — B & (07U log K T HF 8| (Nearest integer)

U TAT: AH° =-54.07 kJ mol™!
AS° =10 TK! mol™
(2303 x 8.314 x 298 = 5705 T)

(RETGLEVIED

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155053766 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Mass of Urea (NH,CONH, ) required to be dissolved m 1000 g of water in order to reduce the vapour pressure

of water by 25% 13 ¢, (Nearest integer)

Given: Molar mass of N, C, Oand Hare 14,12, 16 and 1 ¢ mol™ respectively.
Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 85 Question Id : 7155053766 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

-

a1 <78 I 25% PH B & AU 1000 ¢ T H UTTH P 1elU ZRAT (NH,CONH,) BT H1a0H GoadqT-
o 8| (Fepeam quis)
TGO S: N, C, O 3R H P HITR S0 FH: 14, 12, 16 HR 1 g mol™ &

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155053767 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Consider the graph of Gibbs free enerey G vs Extent of reaction. The number of statement/s from the
tollowing which are true with respect to points (a). (b) and (c) 18

Giibbs energy —»

Extent of reaction —>

A. Reaction 15 spontaneous at (a) and (b)

B. Reaction 1s at equilibrium at point (b) and non-spontaneous at point (c)
C. Reaction 1s spontancous at (a) and non-spontancous at (c)
D. Reaction 1s non-spontaneous at (a) and (b)

I

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 86 Question Id : 7155053767 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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a7 Qo il AR ST & [TRIR & diid 3fTeRd S & 4 4 | 197 (2), (b) 3R () & FRR
frafeied 7§ € Od U gl

Gibbs energy —>»

Extent of reaction —»

a 195 (2 3R (b) W 3fifha wd: wWafdd &

ﬂ?a{m\mmluﬂdw A % 3R fag () TR 3d: Wafdd @

c ﬁ?gg u‘{a{ﬁu%m Tq: Jafild & 3R fag (c) TR 3d: Fafd ¢
D. 65 (a) 31 (b) W ichan 3rad: Fafid &

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes
Answers Type : Equal
Text Areas : PlainText

Possible Answers :

10

Question Number : 87 Question Id : 7155053768 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the adsorption of hydrogen on platinum, the activation encrgy is 30 k J mol™ and for the adsorption of

hydrogen on nickel, the activation enerey is 41.4 k J mol™". The logarithm of the ratio of the rates of
chemisorption on equal areas of the metals at 300 K 15 (Nearest integer)
Given: In 10=2.3

R=83TK" mol™

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal
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Possible Answers :

10

Question Number : 87 Question Id : 7155053768 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

cifcH g W gRgiom & SHOSTNU db el Fiehau) 3ail 30 kT mol™! § 3R Mol Halg W 8153 IoH @
SIS0 &1 iU ol 41.4 kT mol™ B1 300 K U TR U311 & YA §70T TR TG0 P X
3T 1 TS g1 (HeeqH quiid)
AR ln10=223

R=837K ! mol™

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 88 Question Id : 7155053769 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Number of ambidentate ligands in a representative metal complex | M(en)(SCN),] 1s

i
il |

¢n = ethylenediaming |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10
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Question Number : 88 Question Id : 7155053769 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
FURILE’ Id Hgﬂt‘l | M(en)(SCN),) & 3yaest ferrs @t v %J len = ethylenediamine]

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 89 Question Id : 7155053770 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Number of bromo dertvatives obtamned on treating ethane with excess of Br, 1n
ditfused sunlight is

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

19

Question Number : 89 Question Id : 7155053770 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[T JUUHTR 1 VY DI Br, D A H 3 Uichdl HI IR SH] ol DI

T gl
gcollegeduniaa

Response Type : Numeric




Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 7155053771 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In ammonium — phosphomolybdate, the oxidation state of Mo 1s +

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

10

Question Number : 90 Question Id : 7155053771 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
HTHIFTH- BlEnHese § Mo B SHTEIHRUT S[a® + gl

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Equal

Text Areas : PlainText

Possible Answers :

14
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